Third Set of Practice Questions
           Econ 200A                   Professor Leffler


a..  Successful collusion  (T/F explain)

a.  is most likely when product demand is highly elastic.

b.  is likely to be more common in the asphalt industry than in the wheat industry.

d.  is likely to be more common in the soft drink industry than in the asphalt industry.

e.  is likely to be more common in "input" markets than in output markets.

f.  is evident when all sellers are charging the same price for a good.

b.  A proprietor faces the following demands:

    Price $/q              6     5     4     3     2     1

    Demand Adults    1     3     5     7     9    11

    Demand Kids       0     0     1     4    10    15

His marginal cost is $1/q.  He could also earn $22 working for his brother.  If he must charge all customers the same price he should (T/F explain)

    a.  Work for his brother.

    b.  Charge a price of $3.

If he can offer a kids' discount, he should

    c.  Work for his brother.

    d.  Offer a discount of $1.

    e.  Charge a price of $4.

If he could charge entry fees and offer kids' discounts, he should

    f.  Charge a price of $3, set a price discount of $2 with adults and kids charged the same entry fee.

   g.  Charge a price of $1 with no kids price discount but offer a kids entry discount.

c.  Explain why a firm may benefit from:

a.  offering only particular sizes of a product (e.g., a one pound or a two pound size) rather than letting the consumer decide his or her most preferred quantity.

b.  deliberately mismarking randomly the prices on products.

c. including a coupon inside the jar that offers $1.00 off the next purchase.

d.  Explain why a college may increase its revenue by setting high tuition and then                                  

offering "need based" aid.

d.  Cartels  (T/F explain)

a.  are socially wasteful because they yield large profits to the cartel members.

b.  are socially wasteful because they reduce output to increase price.

c.  save society costs because they reduce output.

e.  The president of a county medical society in Florida warned doctors there that if they took out even a small ad in the Yellow Pages, they would be summarily called before the executive committee of the county association to explain their actions."  He added his opinion that using boldface type in a standard Yellow Pages listing constituted "unprofessional conduct."

a.  What kind of doctor is least likely to want to advertise?  Which doctors are most likely to want to advertise?

b.  What is the consumer interest in this matter?  Is advertising by physicians likely to lead to better or poorer service for patients?

f.  A proprietor runs a sub shop frequented by students.  The adjoining pizza place has offered $1000 per month for the space.  The proprietor could earn $1000 per month working as a pizza chef.  Each sub sandwich uses ingredients costing $1 per sandwich.  The students demand is:

    Price                        $4.00  3.50  3.00  2.50  2.00  1.50

    Quantity demanded        0     0    500  1000  1600  1800

a.  Is the proprietor a price taker?

b.  What is the proprietor's best action?

A hospital opens up next store.  The patients require delivery of sandwiches which costs the proprietor nothing.  The hospital insists that the same price be charged its patients as the students but does allow the proprietor to also set a delivery charge.  The demand by the hospital patients (which is in addition to the student demand) is:

    Price                         $4.00  3.50   3.00   2.50   2.00   1.50

    Quantity demanded     500  1000  1200  1400  1600  1800

c.  What now is the best price for sandwiches and for delivery services?

g.  A roadside motel attracts two types of customers, long-distance truckers and families on vacation.  If the motel were to price discriminate, which demander would you expect them to charge the higher price?  (T/F explain)

a.  Truckers since they can write off the motel as a business expense.

b.  Families since the truckers should be more aware of the alternative motels in the area.

c.  Truckers because they have to be on the road for work they will have very inelastic demands.

d.  Families since they will have a set vacation budget.

h.  Francy runs Francy French Foods, a local eating establishment.  Francy recently noticed that about half her customers were poor students and the other half rich yuppies.  Last week she decided to offer discount prices to the students while raising her price to the rich folk.  She did this in such a way that the total number of meals she sold was unchanged.  Explain why you expect her to have an increase in revenue in response to this new pricing policy. 

1.  Some Marxists have argued that labor is the ultimate source of the value of all manufactured goods, and that therefore payments to capital owners represents exploitation of labor.

 a.  Does capital produce value?

 b.  If payments to capital owners were prohibited, would you  expect the Payments to labor to rise or fall?

2.  The following table summarizes the production opportunities and labor supply conditions for producing Cougar Paws for dangling from your mirror:

 WAGE       NUMBER OF WORKERS       PAWS PRODUCED

 $3.50          

1                        

1

 $4.00          

2                        

3

 $4.50          

3                        

6

 $5.00          

4                        

8

 $5.50          

5                        

9

 $6.00   
             6
                                    10

Cougar Paws sell for $4.00 each and they require $1.00 of plastic to make.

 a.  If the workers are not unionized, what wage rate do you expect?  

 b.  If the workers unionize, what wage rate do you expect?

 3.  A common practice in many personal service industries, such as restaurants and hotels, is to allow employees working with customers to accept tips.  Such a practice can be is explained by: (T/F explain)

 a.  Having those best able to monitor the performance, the customers, control the employees' earnings.

b.  This reduces the employers' cost of workers; thereby increasing employment. 

c.  Employees prefer this because the employer has less to lose from poor employee performance.  Employer therefore do not monitor the workers.

d.  By determining the amount of tips received, employers can more easily judge who the most productive employees are.

4.  The Boeing engineers' union successfully raises their wages 30% above what equivalent engineers earn elsewhere.  (T/F explain)

a.  This will likely benefit engineers at General Dynamics (a defense contractor).

b.  This will likely benefit engineers at Airbus.

c.  This will likely benefit sheet metal fabricators at Airbus.

5.  In a competitive economy, discrimination against minorities for buying or selling economic goods will be limited (e.g., as compared to an economy based on sharing)  (T/F explain)

a.  because the discriminated against have a means of raising the cost of that discrimination.

b.  because in market economies everyone acts in their own self interest.

c. because  discrimination results in a price value difference that can be exploited by the non-discriminating.

d. because an emphasis on making money makes socially undesirable behavior less likely.

6.  There can occasionally be large amounts of unemployment because

a.  an economy matures and its investment opportunities are exploited, its growth rate falls and the rising population can not be absorbed into gainful employment.

b.  the economy can not generate enough jobs for all those people seeking work.

c.  information about the best options to buyers and sellers of labor services is imperfect and incomplete.

d.  as a result of minimum wages and unions, wages are not allowed to fall sufficiently to establish full employment.

7.  If Bill Clinton expands federal spending on "social programs" by increasing federal borrowing

a.  unemployment should fall.

b.  unemployment should fall only if individuals do not reduce their private spending in response to future increases in taxes to pay off the debt.

c.  unemployment may rise if individuals reduce their private spending in anticipation of future tax increases.

8.  If comparable worth legislation compels employees to pay 20 percent higher wages to clerical workers the likely effects are (T/F explain)

    a.  an increase in the value (to employers) of the work done by clerical workers.

    b.  an increase in the value of the work done by the marginal clerical workers.

    c.  an reduction in the benefits paid to the typical clerical worker.

    d.  layoffs of clerical workers.

9.  "If we had no unions, with their united strength, we would have unlimited hours of work with low wages along with unsafe, dangerous working conditions."  Evaluate this claim made by the autoworkers union.

10.  Do you expect unions to be strong supporters of increased minimum wages?  of import restrictions?

11.  "Both your text and Professor Leffler have proposed that the supply of labor by an individual will "backward bend" at high wages (that is, the supply of labor will fall with wage increases at high wages).  However the most fundamental result of economics, the Law of Demand states that less of a good will be demanded as its economic cost rises.  Since the supply of labor is simply the inverse of the demand for leisure, the backward bending labor supply curve therefore is inconsistent with the Law of Demand."

Explain the apparent inconsistency and its resolution.

12.  Explain why Professor Leffler claims that most unemployment is caused simply by "change".

13.  Experienced low skilled workers currently earn about $7 per hour.  Entry level low skilled workers earn the minimum wage of $4.25.  If the minimum wage is increased to $7 per hour, do you expect:

a.  the fringe benefits of experienced low skill workers to rise.

b.  uniforms previously provided to all workers to now only be provided to the experienced workers.

c.  the value of the work done by both types of low skilled worker to rise.

14.  "Unemployment is a wonderful privilege.  Without this privilege, workers would expect to receive lower incomes."    Explain how this statement makes economic sense.

15.  The average weekly wage for all female workers in the US is less than half that of all male workers.  Discuss the various factors that can explain the difference.

16.  The average annual earnings for working women in the United States are $14,257.  Working men earn over twice this, about $29,000.  

a.  What factors unrelated to discrimination may explain why women's average earnings are less than men's.

b.  Assuming some residual discrimination effect, explain how economic competition can help eliminate the economic component of discrimination.

17.  The following gives the expected output at Joe's Novelty Shop of Husky Coasters depending on the number of employees:

Coasters
5
20
40
55
65
70
68

Employees
1
2
3
4
5
6
 7


a.  At what level of employment does Joe encounter diminishing returns?  Briefly explain why this occurs.


b.  If the Coasters sell for $1 each, require materials of 50 cents each, and potential workers can earn $7 in alternative employment, how many employees do you predict Joe will hire?


c.  If the employees hired in b. above are all part of a single family and unionize, what wage do you expect them to demand?  What other factors (other than information given above) might be important in answering this?   

18.  A production team or firm is operating at an efficient economic size if

a.  adding more (marginal) people to the team or firm causes a negative marginal product.

b.  if all workers with one vote each would prefer the current size.

c.  if resources have been employed just to the point where the value of the extra output was equal to the extra resource cost.

19.  Your entrepreneurial roommate Kim enters the pizza delivery business hiring 30 dorm mates to deliver only on campus.

a.  The existing delivery businesses will ultimately benefit from the entry because of Kim's innovative routing program.

b.  It is likely that the resulting increased cost and reduced price will lead someone to exit the market.

c.  a. is wrong only because there is no reason to expect cost to increase.

d.  b. is wrong (cost should increase) because Kim will have to find 30 delivery people by enticing them away from other activities including other employment.

20.  Is the sound of jet engines "pollution" to airport baggage handlers?

21.  Does a family that buys a home adjacent to I-5 suffer "pollution" from the fumes and noise of the freeway?

22.  Federal law states that the airways belong to the public and that therefore television stations do not own their channels.  Evidence that the stations do own at least significant rights to their stations is provided by  (T/F explain)

a.  they are legally liable for costs that their actions impose on others.

b. their stations sell for values many times the value of their physical facilities.

23.  The following schedule gives the value of emissions to a factory and the estimated cost of the resulting pollution to local residents

                    Quantity of pollution

                                     1      2      3      4       5

Value to the factory      55    45    35    25    15

Cost to residents          10    20    30    40    50

    a.  If the right to pollute is owned by the factory, how much pollution would you expect?  (Be sure to discuss the costs of negotiating.)

    b.  What role would the costs to residents of moving play in determining the efficient amount of pollution?

24.  The following table gives the value of a fence of different heights between the Jones' and the Smith's yards and the cost.

Height                     3        4         5       6        7

Value to Jones     $550   800    950  1050  1075

Value to Smith     $600  1000  1225  1350  1350

Total cost             $600    800  1000  1200  1400

a.  What is the efficient height for the fence?

b.  Explain why it is likely that the efficient height will not be built.

c.  If the government paid for fences would you expect the efficient height fences?

25.  SeaTac Airport has been dealing with "noise pollution" problems for residents living below the landing patterns for many years.  Discuss (separately) the relevance of each of the following in evaluating whether there is economically important "noise pollution":

a.   All current residents under the landing patterns purchased their homes between 1980 and 1990.  The noise from jet aircraft has steadily declined over that periods.

b.  All affected residents are part of the SeaTac Noise Abatement Homeowners Association which has been in negotiations with the Airport since 1990.

c.  The airport owns all the homes and rents to families.

26.  On a certain straight road, 4 cars can travel to work in 30 minutes.  Travel on the highway takes 1.5 hours regardless of how many take the road.  Each additional car on the road beyond 4 increases the commute for all by 5 minutes.  All commuters value their commuting time at $6 per hour.

a.  How many cars do you predict will use the freeway in equilibrium?

b.  Explain why this isn't the efficient usage.

c.  Suggest (and explain) a private solution leading to efficient use of the freeway.

27.  a.  Like many other activities, hunting becomes less enjoyable as more do it.  The following represents the value each hunter places on a day's activities depending on the number participating:

# of hunters 
1
2
3
4
5
6
7 or more

Value/day       $500
400
300
200
100
50
0

The hunters alternative is to stay home and watch Rambo videos. This has a value to them of $100.  Assume there is no charge for hunting on public land.  Do you expect the efficient number of hunters?  Why would having a single private land owner yield the efficient amount of hunting?

b.  Assume ten different companies own the hunting land and the game wanders among the ten properties.  Explain why this ownership arrangement is likely to lead to "endangered game" (i.e., destruction of the game animals within the land.)  

28.  A private firm builds an airport "out in the sticks."  As the local region grows, people start building houses closer and closer to the airport, and begin to complain about the airport noise.  A case is brought asking that the airport be liable for all noise damage (pollution) produced during take-offs and landings. 


a.  Explain the differences in land use and airport use patterns depending on whether the court rules the airport liable.


b.  Explain the mechanism through which the usage patterns would be unaffected by the court's ruling if transactions costs were zero. 


c.  Is the effect of the airport the same on families that had located near the airport prior to its being built as compared to those that moved in after its construction?
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